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QUESTION 1

What happens when an instance migrates from one snapshot to another and there is an activity in the old snapshot that
contains a token, but the activity does not exist in the new snapshot?

A. The token will be deleted

B. The token will become an Archived token

C. The token will become an Orphaned token.

D. The token will move to the next closest activity

Correct Answer: B

QUESTION 2

Which logging command is used to print log statements to the system out logs?
A. log.wam(\\V\\'info")

B. log.alert("info")

C. log.trace("info")

D. log.statement(\\'\\'infon)

Correct Answer: D

QUESTION 3

Which statement is true regarding the Tab index configuration option?

A. It sequences each Tab dynamically for the Tab control.

B. It flags the control to display with the warning color.

C. It only works when the Coach is set to Responsive mode.

D. It sets the sequence index for the control on the form when the user presses their Tabl keyboard button.

Correct Answer: A

QUESTION 4
A customer has a business requirement to completely separate connectivity between production

environments from development and test environments.
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How should a developer deploy a new process application to a properly configured production Process
Server?

A. Use \'BPMConfig\\' to remote deploy

B. Use offline deployment to the Process Server

C. FTP the process .ear file and install using the wasadmin console in production

D. Export the .twx file from the Process Center console and import into the Process Server

Correct Answer: C

QUESTION 5

Which statement is true when exposing a BPM function as a web service to exterior systems?

A. All operations exposed in a web service are one-way operations.

B. All operations exposed in a web service are request-response operations.

C. Operations exposed in a web service can be both one-way operations or callback operations.

D. Operations exposed in a web service can be both one-way operations or request-response operations.

Correct Answer: B
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